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by First Revision Exam, January - 2025
standard 12 :
T' . 3 OO HOUI‘S MATHS Marks. 90
e PART - I
Answer all the questions.

Choose the correct answer from the given four alternatives:

-
2l l T

2.3 ; : ;
1) IfadjA= 4 _ andadjB= _3 | then adj (AB) is

7.5 )

7 - — 5
o { | O C) & 9

a) 7 -9 b) 5 -10

2) The solution of the equation |z|-2Z = 1+22i 1S ...oee
- 3 .

a) Y, -2 b) ~% +2 c) 2+ %] d) 2= %

[0, 2n] satisfying sin’x - 2 sin?x+1is

' 3) The number of real numbers in &

a) 2 b) 4 c) 1
4) If x = / the value of cos[cos” 142 sin® 1x] = .oees . |
a) - ’ b) {24 ; c) —/‘ d) %

5) The area of quadnlateral formed with foci o

2 2 2

g v v
—_——-=1 o_——?—-l Naee
al b’ a’ b’ e
a) 4(a2+b?) b) 2(a2+b?) c). a2+b? d) v2(a2+b?)
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20x1=20

d) - 50

f the hyperbolas

.~ 6) The angle between the line T = (T+23—3§]+t(27+3—2k). and the plane

F.(T+3)+4: 0 is.....
a) 0° b) 30° c) 45° d) 90°

between 3 and p i5 .......

a) % Ab)/ - 0% 0y

3 4
5
8) IfA= 3 andAT-A1thentheva|ueofxus
a) - ) 7% a¥x . 9%
3 -3 4

L "9) IfA = 3 -3 ,‘14 then adj (adj A) is..... -

-3 3 4 3 -3

3 -3 4. 6 6 8 |
2 -3 4 4 -6 8 23 -4 &
a b c
Yo 1 ) o 2 2 )0,_1 9, ,

- 10) If Z is a non-zero complex number, such that 2iz2 = Z then |Z| is .....
a) 2 b) 1 c) 2 : d) 3
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~7) If 3 and p are unit vectors such that a b axb ZZ then the angle
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|+2Z
11) If |z| = 1 then the value of 75 IS e

|
a)z b) z <) /2 d) 1
.? ‘3 .40 =osieanaen
12) i’),)ll, 19 isuve i X ¢ -1 s
13) A zero of x3+64 is ..... :
: a) 0 b) 4 c) 4 d) -4
]
14) If o, p and y are the zeros of x3+px2+qx+r then /u IS ooiivi.
y -q
a) -9 by -P/ o ¥ d) %
15) sec” _23\6 .....

a) —51/ b) 51/ ) d) =1,

16) sin"(2 cos? x-1) + cos™}(1-2 sin?x) = «-....

a) % b) 5% ) % 9 s
17) The radius of the circle 3x2+by2+4bx-6by+b? = 0 is
a) 1 b) 3 <) Jio d) 11

2 2
. : ’ X Yy .
18) Area of the greatest rectangle inscribed in the ellipse 5-2"" 5? =1lis

a) 2ab b) ab ¢) Vab dy 3
. !
19) If the direction cosines of a line are P . 2 then
a)c= =3 b)c=%x3 c)c>0 d)0<c<1

20) The distance from the point (2, 5, ~3) to the plane r. (67 -3j+ 2‘2) =3 is.....
a) 1 b) 2 93 d) 4

PART -B
Answer any 7 questions. Question number 30 is compulsory. 7x2=14

4 3 1 =2

21) Find the rank of the matrix -3 -1 =2 4
- | 6 7 -1 2
22) Solve 5x-2y+16 =0, x+3y-7=0
23) Show that the equation 22 _ 7 has four solutions.

24) If |Z-2-i| = 3 represents a equation of circle. Find the centre and radius.
25) Find a polynomial equation of minimum degree with rational co-efficents
having 2i+3 as a root. '

o1 2+sinx

26) Find the domain of COS >

3 -
27) Find the value of tan™' tan vy

i
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i ;;?:1 the genera| €quation of the circle whose diameter is the line segment
ngthepohus(-4,-2)and(1,1)
29) Prove by

30) Fiad's vVector method that an angle in a semi-circle is right angle.
he acute angle between the lines 2x = 3y =-zand 6x = -y = -4z

‘ PART-C
Answer any 7 questiong, Question number 40 is compulsory.
8 —
) UWAS 53" Prove that Aladj A) = (adj A) A = |A]L,
32) State and prove "Trian
- 33) If the equations x2

7x3=21

gle in equality’
+PX+q = 0 and x2+p!x+q! = 0 have a common root, show

that it must be equal tq Pa-p'q or : ~ 3
q-q' P=p

34) Evaluate cot (1)+sin-t -\/_% -sec-! (uﬁ)

‘ -1 T ' P
35) Evaluate: cos (cos 7cos%7-sm%sm%7)
36) Show that the line X-y+4
find its point of contact.

37) The equation y = %2 x? Model cross sections of parabolic mirrors that are

used for solar energy. There s 3 heating tube located at the focus of each
parabola how high is this tube |ocated above the vertex of the parabola?

38) Find the torque of the resultant of the three forces represented by

-3i +6j -3k, 41-10j+12k and 4i+7j acting at the point with position

= Qis a tangent to the ellipse x2+3y2 = 12. Also

vector 8i - 6j - 4k, about the point with position vector 18j + 3} -9k

39) Find the angle between the lines x-1= % = z+1 and the plane 2x-y+2z = 2

and also find the meeting point of the line and given plane.
40) Solve: x+2y+3z=10; 3x+4y+4z =0 7 7X+10y+12z=0

PART-D
Answer all the questions:

: 7x5=35
41) If ax?+bx+cis divided by x+3, x-5 and x-1, the remainders are 21,61and9
respectively find a, b and c.
(OR)
- -1 X +1 n
.t 1.7 X~ -1 .
e A kg A Lz =y

22 +1
Tz Al =0 show that the locus

42) Ifz = x+iyisa corripl'ex number such that In,

of Zis 2x2+2y2+x-2y = 0.

(OR)
Find the Foci, vertex and directrix of the hyperbola
9x2-y2-36x-6y+18 = 0
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Vnrizm ‘.
43) Solve: (2x- 3) (6x-1) (3%~ 2)( () -5=0

44)

- 45)

46)

- 47)

4

R)
Ifa=2i+3j-k, b= ?|+5j4”k = -i - 2] + 3k, verify that

ax(bx€)=(a.c)o - a.)

Prove that Sin” (%.)~C,OS“(‘213)=5‘.“ (1615)

ml
O

5, -l -l
Evaluate tan cos ; 5 ~sin ‘ =
' : (OR)
Prove by Vector method that the perpendiculars from the vertices to the
opposite sides of a trlangle are concurrent.

A rod of length 1.2 m moves with its ends always touching the co-ordinate
axes. The locus of a point P on the rod, which is 0.3 m. from'the end in
contact with x axis is an ellipse. Find the eccentricity.

(OR)
By using Gaussian Elimination method, Balance the chemical reaction equation. -
C,Hg + 0, - H,0 + CO, :

Find the vector parémetric equation, vector non-parametric eqaution and
Cartesian form of the equation of the plane passing through the point

(0 -5) and parallel to the straight lines ¥ = (l - 25 = 4k)+ 5(21 +3j+ 6k)

. and r—( 3]+5k)+t(|+1 k) :

(OR)

v , i, o )
If 2 cos o = X+%, 2 cos f= Y+; show that (i) 7+%=2cos(a-f5)

1 . :
(i) XY = = 2 sin(a+B) and (iil) X7V * 7w 2608 (ma +np)
Solve: 6x*-35x3+62x%-35x+6

(OR)
Find the equation of the circle passmg through the pomts (1, 1) (2, -1) and
(3,2)
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